

## EARN YOUR WAY TO AN EXTRAVAGANT BALI RETREAT IN JUNE!

### WHAT'S INCLUDED (Up to \$750 USD per person)

Be one of our top 40 point earners\* from Australia and New Zealand, and you will secure your spot in paradise with an exclusive trip to **BALI**, courtesy of **YOR Health!** 

- Airfare
- Hotel Accommodations
- Pre-planned Meals

From Cycle 2, Week 8 (February 13, 2016) through Cycle 5, Week 20 (May 13, 2016)

\*MINIMUM POINTS TO EARN: 20,000 POINTS





Earn points on all **Enrollment Orders** from your **Personally Sponsored** Select Customers and Promoters.

1 Sales to Select Customers & Promoters (up to 450 PV) 1 PV = 1 Point

Enrollment Order Points Earned
150 PV 150

2 Sales of 450 PV - 899 PV to SC or IR on their Enrollment Order

Earn 1 Point per PV PLUS a bonus of 45 Points. Points bonus increases by 45 points for each Promoter set personally sold thereafter.

1 PV= 1 Point +45 Pt Increment

450PV-899PV ORDER			
Sets Sold	PV	Points	Total Earned
1st	450	45	495
2nd	500	90	590
3rd	480	135	615
4th	750	180	930
∞		+45 Pts	

3 Sales of 900+ PV or more to SC or IR on their Enrollment Order

Earn 1 Point per PV PLUS a bonus of 90 Points. Points bonus increases by 90 points for each 900+PV Enrollment Order personally sold thereafter (not including Reseller Kit).

1 PV= 1 Point +90 Pt Increment

900+ PV ORDER			
Sets Sold	PV	Points	Total Earned
1st	900	90	990
2nd	910	180	1,090
3rd	1000	270	1,270
4th	950	360	1,310
∞		+90 Pts	

4 Sales of Reseller Kit

Earn 1 Point per PV PLUS a bonus 113 Points. Points bonus increases by 113 points for each Reseller Kit personally sold thereafter. 1 PV= 1 Point +113 Pt Increment

RESELLER SET			
Sets Sold	PV	Points	Total Earned
1st	1134	113	1,247
2nd	1200	226	1,426
3rd	1190	339	1,529
∞		+113 Pts	

**FRONTLINE DUPLICATION** 

**TRIP POINTS** 

450PV-899PV Order **RESELLER KIT** 900+ PV Order PSP Sold **Points PSP Sold Points PSP Sold Points** 123 247 311 1st 1st 1st 147 2nd 2nd 272 2nd 356  $\infty$ 25%  $\infty$ 25%  $\infty$ 25%

**EXAMPLES** 

5 Sales from your Promoters

Earn 25% of your Personally Sponsored Promoters' (PSP) points for every SC or IR order they sell that's over 450 PV.

25%

Examples are a continuance from examples above

# RETENTION TRIP POINTS EXAMPLES 6 YOR Rewards Activation Earn points when your personally sponsored SCs and Promoters' Autoship (min 25 PV) bills within 28 days from their enrollment date. 200 Pts CYCLE Autoship PV Multipl 1 100 1 2 100 1.1

7 Consecutive SC Autoship

Earn points for the Autoship PV generated by your Personally Sponsored SC. For each consecutive Cycle your Personally Sponsored SC Autoships, the points multiplier increases in increments of .10. The points multiplier resets back to 1 once an Autoship Cycle is skipped.

1 PV = 1 Pt +.10 Pt Increment

CYCLE	Autoship PV	Points Multiplier	Points	
1	100	1	100	
2	100	1.1	110	
3	100	1.2	120	
3	50	1.2	60	
4	100	1.3	130	
5	100	1.4	140	
6	100	1.5	150	
7	0	0	0	
8	100	1	100	
9	100	1.1	110	
10	100	1.2	120	
11	100	1.3	130	
12	100	1.4	140	
13	100 1.5 150		150	

ACHIEVEMENTS		TRIP POINTS	EXAMPLES
<ul> <li>Become a Rising Star in:</li> <li>Personally Sponsor 3 new Rising State Earns points for every 3 New Rising State Personally Sponsored.</li> </ul>		1,000 Pts 750 Pts 500 Pts	If you become a RS on the 5th day from Enrollment Date, you earn:  750 Pts  If you Sponsor 9 new RS during the Qualification Period, you earn:  500 + 500 + 500 = 1,500 Pts
10 Personally Sponsor Luxury Car Bonu Earns points for every newly achieved I Bonus (LCB) qualifier you Personally Sp	Luxury Car	1,500 Pts	If you Personally Sponsor 3 Promoters that newly achieves LCB during the Qualification Period, you earn: $3 \times 1,500 = 4,500 \text{ Pts}$

#### THE FASTEST PATH TO PARADISE: MAINTAINED RANK ADVANCEMENTS!

ANY personal Maintained Rank
Advancements during the qualification
period (Cycle 2, Week 8 (February
13, 2016) - Cycle 5, Week 20 (May 13,
2016) will earn you TRIPLE POINTS<sup>12</sup>!
In addition, you now have even more
ways to earn triple points with our newly
introduced Ranks: SAPPHIRE, RUBY and
DOUBLE DIAMOND!

<sup>1</sup>The Maintained Rank at the end of Cycle 1 is your base. If, during the contest period, you maintain a rank higher than the maintained rank in Cycle 1, you will be awarded Triple points. Maintained Rank Advancements will only be allocated once per Maintained Rank.

<sup>&</sup>lt;sup>2</sup> In comparison to chips earned via *Vegas Blitz*.

YOUR Maintained Rank Advancements	YOUR TRIPLE POINTS!
2K Promoter	600
Sapphire	3,000
Emerald	4,500
Ruby	5,250
Diamond	6,000
Double Diamond	9,000
Blue Diamond	12,000
White Diamond	24,000
1-Star White Diamond	24,000
2-Star White Diamond	24,000
3-Star White Diamond	24,000

Your Personally Sponsored Promoters' Maintained Rank Advancements	Points
2K Promoter	200
Sapphire	1,000
Emerald	1,500
Ruby	1,750
Diamond	2,000
Double Diamond	3,000
Blue Diamond	4,000
White Diamond	8,000
1-Star White Diamond	8,000
2-Star White Diamond	8,000
3-Star White Diamond	8,000

**EXAMPLE:** If in Cycle 1, you maintained Emerald. By end of Cycle 2, you maintained Double Diamond. You will get 5,250 for Ruby plus 6,000 for Diamond, and 9,000 for Double Diamond. If by end of Cycle 3, you regress and maintain Diamond, you will not be awarded any additional points since you were already awarded the points for Maintaining Diamond in Cycle 2.

**REMEMBER**, our Top 40 point earners will get to join us as we jet set away to Bali! 20,000 points will not guarantee your spot in paradise.

With TRIPLE POINTS on your Personal Maintained Rank Advancements, the Bali Retreat is closer than ever.

Paradise is just a sale away. We've set you up for success. The rest is up to you.

#### Good luck!

#### **IMPORTANT DISCLOSURES**

- 1. Bali Retreat Points are treated and tracked separately from Vegas Blitz Chips.
- 2. IMPORTANT NOTE: As you earn points towards your Bali Retreat, you will also be earning chips for Vegas Blitz, but the points/chips WILL NOT count towards both contests.

#### How this works:

- a. If you choose to go on the Bali Retreat, the equivalent Vegas Blitz chips will be deducted for your Vegas Blitz total. Any Bali Retreat Points over the 20,000 minimum requirement will be converted to Vegas Blitz chips, and will be added to your Vegas Blitz running total. Note: The Triple points for your Personal Maintained Rank Advancements will not carry over to Vegas Blitz.
- b. If you choose <u>not</u> to go on the Bali Retreat, the Vegas Blitz chips earned during the Bali Retreat qualification period will remain in your Vegas Blitz total.

  Note: The Triple points for your Personal Maintained Rank Advancements are only earned for Bali Retreat, Vegas Blitz will only award single chips.
- 3. YOR Health will cover up to \$750 USD of the Bali Retreat expenses per qualifying account. Attending IRs will be responsible for any expenses incurred above and beyond this amount.
- 4. Only one trip per IR account will be awarded. Co-Applicants and Significant Others of the qualifying IR may be invited, but will be responsible for the full cost of their trip. (Qualifiers' Guest will be required to pre-pay a deposit by a specified date, TBD)
- 5. There are no partial buy-ins to Bali Retreat.
- 6. Rules, date and trip location are subject to change, at the discretion of YOR Health.